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φ̇H = [H,φH ] = ΠH(�x, t)

��� ����
Π̇H = (∇2 −m2)φH
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(∂µ∂
µ +m2)φH = 0
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H = H0 +Hint
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U(t0, t1) = T exp

�
ˆ t1

t0

dt HI(t)
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U(t0, t1) = U(t0, τ)U(τ, t1)

�� ���� ���� ��� ���� ������� ������� �(φ(x)φ(y)) ��� ��� ������ ������� ������� : φ(x)φ(y) :
��� ���� ��������� ����� ��� ����������� x ↔ y� ��������� ��� ���� ������� ��� ���� �����
������ ���� DF (x− y) ��� ��� ���� ���������
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T(φ(x1)φ(x2)φ(x3)) =: φ(x1)φ(x2)φ(x3) : +φ(x1)DF (x2−x3)+φ(x2)DF (x3−x1)+φ(x3)DF (x1−x2)
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